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// Swops two

public class

{

values around

CriticalThree

public static void main (String[]args)

{
double

double
double

System.
System.
System.

temp =
valuel
value2

System.
System.

valuel = -5.876;
value2 = 8.7865;
temp = 0;

out.println("The first value is " + valuel);

out.println("The second value is " + value2);

out.println();

valuel;
= value2;
= temp;

out.println("The first value is " + valuel);

out.println("The second value is " + value2);

} // end main
} // end class

Output looks

like this

The first value is -5.876
The second value is 8.7865

The first value is 8.7865
The second value is -5.876



